



Integral transforms concerning generalized multiindex Bessel Maitland function

N.U. Khan^{1*} and S.W. Khan²

Abstract

Recently several authors have done work on Bessel-Maitland function and generalized Bessel-Maitland function. Many integral transforms and fractional calculus results involving these functions have been established [5],[6],[9]-[11]. In this paper we have established the multiple integral transforms of the generalized multiindex Bessel-Maitland function, which we have defined in this article. The main results are established in terms of Fox-Wright function, then Fox-Wright function is transformed in terms of Fox-H function.

Keywords

Generalized multiindex Bessel-Maitland function, Fox-Wright function, Fox-H function, integral formulas.

AMS Subject Classification

33C10, 33D15, 33C60, 65R10.

^{1,2}Department of Applied Mathematics, Faculty of Engineering and Technology, Aligarh Muslim University, Aligarh-202002, India.

*Corresponding author: ¹ nukhan@gmail.com; ²swalikhan6@gmail.com

Article History: Received 24 May 2019; Accepted 09 November 2019

©2019 MJM.

Contents

1	Introduction	746
2	Main Results	747
3	Transformation of Fox-Wright function to Fox-H function in above theorems	748
4	Special Cases	749
	References	750

1. Introduction

Consider the Bessel's differential equation

$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + (x^2 - \beta^2)y = 0 \quad (1.1)$$

of order β , where β is arbitrary complex number. There are two solutions to this differential equation, which were first defined by the mathematician Daniel Bernouli and then generalized by Friedrich Bessel.

$$J_\beta(x) = \sum_{m=0}^{\infty} \frac{(-1)^m (x/2)^{\beta+2m}}{m! \Gamma(m + \beta + 1)} \quad (1.2)$$

$J_\beta(x)$ is one of the two solutions of (1.1), it is known as Bessel function of first kind [2]. Further, Edward Maitland Wright

[12], introduced generalization of Bessel function known as Bessel-Maitland function as

$$J_\beta^\alpha(x) = \sum_{m=0}^{\infty} \frac{(-x)^m}{\Gamma(\alpha m + \beta + 1)m!}; \Re(\alpha) > 0, \Re(\beta) > -1, x \in \mathbb{C}. \quad (1.3)$$

After that Singh et.al [8] defined generalized Bessel Maitland function as

$$J_{\beta,q}^{\alpha,\gamma}(x) = \sum_{m=0}^{\infty} \frac{(\gamma)_{qm} (-x)^m}{\Gamma(\alpha m + \beta + 1)m!} \quad (1.4)$$

where $\Re(\alpha) > \max\{0, q-1\}$, $\Re(\gamma) > 0$, $\Re(\beta) > -1$, $x \in \mathbb{C}$ and $q \in (0, 1) \cup \mathbb{N}$.

In (1.4), $(\gamma)_{qm}$ is the generalized Pochhammer symbol, which can be written in terms of gamma function as

$$(\gamma)_{qm} = \frac{\Gamma(\gamma + mq)}{\Gamma(\gamma)} \quad (1.5)$$

In a sequel of the work on multiindex Mittag-Leffler function given by Saxena and Nishimoto [13],[14]. We have defined generalized multiindex Bessel-Maitland function as

$$J_{(\beta_j),q}^{\alpha_j,\gamma}(x) = \sum_{m=0}^{\infty} \frac{(\gamma)_{qm} (-x)^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1)m!} \quad (1.6)$$

where $j = 1, 2, \dots, n$; $\Re(\gamma) > 0$, $\Re(\beta_j) > -1$, $\Re[\sum_{j=1}^n \alpha_j] > \max\{0, q-1\}$, $q \in (0, 1) \cup \mathbb{N}$ and $n \in \mathbb{N}$

Put $j = 1$, $\alpha_1 = 1$, $\beta_1 = \beta$, $q = 0$ and replace x by $\frac{x^2}{4}$, we achieve

$$J_{\beta,0}^{1,\gamma}\left(\frac{x^2}{4}\right) = \left(\frac{2}{x}\right) J_{\beta}(x) \tag{1.7}$$

where $J_{\beta}(x)$ is well known Bessel function defined in (1.2). Equation (1.6), can also be written as

$$J_{(\beta_j),q}^{(\alpha_j),\gamma}(x) = \frac{1}{\Gamma(\gamma)} {}_1\Psi_n \left[\begin{matrix} (\gamma, q) & ; & -x \\ (\beta_1 + 1, \alpha_1), \dots, (\beta_n + 1, \alpha_n) & & \end{matrix} \right] \tag{1.8}$$

where ${}_1\Psi_n$ is the generalized Wright hypergeometric function ${}_p\Psi_q$ [4], also called as Fox-Wright function, which is defined as

$${}_p\Psi_q \left[\begin{matrix} (a_1, A_1), \dots, (a_p, A_p); & x \\ (b_1, B_1), \dots, (b_p, B_p); & \end{matrix} \right] = \sum_{k=0}^{\infty} \frac{\Gamma(a_1 + kA_1) \dots \Gamma(a_p + kA_p)x^k}{\Gamma(b_1 + kB_1) \dots \Gamma(b_p + kB_p)k!} \tag{1.9}$$

where A_1, A_2, \dots, A_p and B_1, B_2, \dots, B_p are positive real numbers such that

$$1 + \sum_{j=1}^q B_j - \sum_{i=1}^p A_i > 0$$

The Fox-Wright function has a relation with Fox-H function [4] defined as

$${}_p\Psi_q \left[\begin{matrix} (a_1, A_1), \dots, (a_p, A_p); & x \\ (b_1, B_1), \dots, (b_p, B_p); & \end{matrix} \right] = H_{p,q+1}^{1,p} \left[-x \mid \begin{matrix} (1 - a_1, A_1), \dots, (1 - a_p, A_p) \\ (0, 1), (1 - b_1, B_1), \dots, (1 - b_p, B_p) \end{matrix} \right] \tag{1.10}$$

Here in this paper, we are going to find the integral formulas involving (1.6). For that we require the following integral formulas

$$\int_0^1 z^{\nu-1}(1-z)^{\mu-1}[az+b(1-z)]^{-\nu-\mu} dz = \frac{1}{a^{\nu}b^{\mu}} \frac{\Gamma(\nu)\Gamma(\mu)}{\Gamma(\nu+\mu)} \tag{1.11}$$

where $\Re(\mu) > 0$, $\Re(\nu) > 0$ and a, b are non-zero constants and the expression $az + b(1 - z)$, where $0 \leq z \leq 1$ is non-zero.

$$\int_a^b (a-t)^{\nu-1}(t-b)^{\mu-1} dt = (a-b)^{\nu+\mu-1} \frac{\Gamma(\nu)\Gamma(\mu)}{\Gamma(\nu+\mu)} \tag{1.12}$$

where $\Re(\nu) > 0$, $\Re(\mu) > 0$ and $b < a$.

$$\int_0^{\infty} z^{\mu-1}(z+a+\sqrt{z^2+az})^{-\lambda} dz = 2\lambda a^{-\lambda} \frac{a^{\mu}\Gamma(2\mu)\Gamma(\lambda-\mu)}{2^{\mu}\Gamma(1+\lambda+\mu)} \tag{1.13}$$

where $0 < \Re(\mu) < \Re(\lambda)$.

The formula in (1.11), (1.12) and (1.13) are known as MacRobert [7], Erdelyi [1] and Oberhettinger [3] respectively.

2. Main Results

In this section we are going to deduce theorems on generalized multiindex Bessel-Maitland function

Theorem 2.1. *The under-mentioned result holds true under specified conditions*

$$\int_0^1 x^{\nu-1}(1-x)^{\mu-1}[ax+b(1-x)]^{-\nu-\mu} J_{(\beta_j),q}^{(\alpha_j),\gamma}\left(\frac{xy}{ax+b(1-x)}\right) dx = \frac{\Gamma(\mu)}{a^{\nu}b^{\mu}\Gamma(\gamma)}$$

$$\times {}_2\Psi_{n+1} \left[\begin{matrix} (\nu, 1), & (\gamma, q); & -y \\ (\beta_1 + 1, \alpha_1), \dots, (\beta_n + 1, \alpha_n) & (\nu + \mu, 1); & a \end{matrix} \right] \tag{2.1}$$

$\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta_j) > -1$,
 $\Re[\sum_{j=1}^n \alpha_j] > \max\{0, q - 1\}$.

Proof. Using (1.6) in left hand side of (2.1) and interchanging the order of summation and integration which is guaranteed under the convergence conditions

$$\int_0^1 x^{\nu-1}(1-x)^{\mu-1}[ax+b(1-x)]^{-\nu-\mu} J_{(\beta_j),q}^{(\alpha_j),\gamma}\left(\frac{xy}{ax+b(1-x)}\right) dx = \sum_{m=0}^{\infty} \frac{(\gamma)_{qm} y^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1) m!} \times \int_0^1 x^{\nu+m-1}(1-x)^{\mu-1}[ax+b(1-x)]^{-\nu-\mu-m} dx$$

Applying (1.11) and using (1.5), we achieve

$$= \frac{\Gamma(\mu)}{a^{\nu}b^{\mu}\Gamma(\gamma)} \sum_{m=0}^{\infty} \frac{\Gamma(\nu+m)\Gamma(\gamma+qm)(-y)^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1)\Gamma(\nu+\mu+m)a^m m!}$$

Using (1.9), we acquire our result. □

Theorem 2.2. *The under-mentioned result holds true under specified conditions*

$$\int_0^1 x^{\nu-1}(1-x)^{\mu-1}[ax+b(1-x)]^{-\nu-\mu} J_{(\beta_j),q}^{(\alpha_j),\gamma}\left(\frac{(1-x)y}{ax+b(1-x)}\right) dx = \frac{\Gamma(\nu)}{a^{\nu}b^{\mu}\Gamma(\gamma)}$$

$$\times {}_2\Psi_{n+1} \left[\begin{matrix} (\mu, 1), & (\gamma, q); & -y \\ (\beta_1 + 1, \alpha_1), \dots, (\beta_n + 1, \alpha_n) & (\nu + \mu, 1); & a \end{matrix} \right] \tag{2.2}$$

$\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta_j) > -1$,
 $\Re[\sum_{j=1}^n \alpha_j] > \max\{0, q - 1\}$.



Proof. The proof is on the same lines as of Theorem 2.1 □

Theorem 2.3. *The result below is verifiable under specified conditions*

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{(\beta_j),q}^{(\alpha_j),\gamma} [(a-x)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\mu)}{\Gamma(\gamma)}$$

$$\times {}_2\Psi_{n+1} \left[\begin{matrix} (\nu, 1), & (\gamma, q); & \\ (\beta_1+1, \alpha_1), & \dots, & (\beta_n+1, \alpha_n) \end{matrix} \middle| \begin{matrix} - (a-b)y \\ (\nu+\mu, 1); \end{matrix} \right] \quad (2.3)$$

$\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta_j) > -1,$
 $\Re[\sum_{j=1}^n \alpha_j] > \max\{0, q-1\}$ and $a > b.$

Proof. Using (1.6) in left hand side of (2.3) and interchanging the order of summation and integration which is gauranteed under the convergence conditions, we get

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{(\beta_j),q}^{(\alpha_j),\gamma} [(a-x)y]$$

$$= \sum_{m=0}^{\infty} \frac{(\gamma)_{qm} y^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1) m!} \int_a^b (a-x)^{\nu+m-1} (x-b)^{\mu-1} dx$$

Applying (1.12) and using (1.5), we achieve

$$= \frac{\Gamma(\mu)(a-b)^{\nu+\mu}}{\Gamma(\gamma)} \sum_{m=0}^{\infty} \frac{\Gamma(\nu+m)\Gamma(\gamma+qm)(-y)^m (a-b)^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1)\Gamma(\nu+\mu+m)m!}$$

Using (1.9), we acquire our result. □

Theorem 2.4. *The result below is verifiable under specified conditions*

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{(\beta_j),q}^{(\alpha_j),\gamma} [(x-b)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\nu)}{\Gamma(\gamma)}$$

$$\times {}_2\Psi_{n+1} \left[\begin{matrix} (\mu, 1), & (\gamma, q); & \\ (\beta_1+1, \alpha_1), & \dots, & (\beta_n+1, \alpha_n) \end{matrix} \middle| \begin{matrix} - (a-b)y \\ (\nu+\mu, 1); \end{matrix} \right] \quad (2.4)$$

$\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta_j) > -1,$
 $\Re[\sum_{j=1}^n \alpha_j] > \max\{0, q-1\}$ and $a > b.$

Proof. The proof is on the same lines as of Theorem 2.3 . □

Theorem 2.5. *The underlying result is true under specified conditions*

$$\int_0^{\infty} x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{(\beta_j),q}^{(\alpha_j),\gamma} (xy) dx = \frac{\lambda 2^{1-\mu} a^{\mu-\lambda}}{\Gamma(\gamma)}$$

$$\times {}_3\Psi_{n+1} \left[\begin{matrix} (\gamma, q), & (2\mu, 2), & (\lambda-\mu, -1); & \\ (\beta_1+1, \alpha_1) & \dots & (\beta_n+1, \alpha_n) & (\lambda+\mu+1, 1); \end{matrix} \middle| \begin{matrix} -ya \\ 2 \end{matrix} \right] \quad (2.5)$$

$\Re(\beta_j) > -1, \Re[\sum_{j=1}^n \alpha_j] > \max\{0, q-1\}$
 and $0 < \Re(\mu) < \Re(\lambda).$

Proof. Using (1.6) in left hand side of (2.5) and interchanging the order of summation and integration which is gauranteed under the convergence conditions, we get

$$\int_0^{\infty} x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{(\beta_j),q}^{(\alpha_j),\gamma} (xy) dx$$

$$= \sum_{m=0}^{\infty} \frac{(\gamma)_{qm} y^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1) m!} \int_0^{\infty} x^{\mu+m-1} (x+a+\sqrt{x^2+ax})^{-\lambda} dx$$

Applying (1.13) and using (1.5), we achieve

$$= \frac{\lambda 2^{1-\mu} a^{\mu-\lambda}}{\Gamma(\gamma)} \sum_{n=0}^{\infty} \frac{\Gamma(\gamma+qm)\Gamma(2\mu+2m)\Gamma(\lambda-\mu-m)(-ya)^m}{\prod_{j=1}^n \Gamma(\alpha_j m + \beta_j + 1)\Gamma(1+\lambda+\mu+m)2^m m!}$$

Using (1.9), we acquire our result. □

Theorem 2.6. *The underlying result is true under specified conditions*

$$\int_0^{\infty} x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{(\beta_j),q}^{(\alpha_j),\gamma} \left(\frac{y}{x+a+\sqrt{x^2+ax}} \right) dx = \frac{2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu)}{\Gamma(\gamma)}$$

$$\times {}_3\Psi_{n+2} \left[\begin{matrix} (\gamma, q), & (\lambda+1, 1), & (\lambda-\mu, -1); & \\ (\beta_1+1, \alpha_1), & \dots, & (\beta_n+1, \alpha_n), & (\lambda+\mu+1, 1), \end{matrix} \middle| \begin{matrix} -y \\ a \end{matrix} \right] \quad (2.6)$$

$\Re(\beta_j) > -1, \Re[\sum_{j=1}^n \alpha_j] > \max\{0, q-1\}$
 and $0 < \Re(\mu) < \Re(\lambda).$

Proof. The proof is on the same lines as of Theorem 2.5 . □

3. Transformation of Fox-Wright function to Fox-H function in above theorems

In this section we are going to execute the transformation of Fox-Wright function to Fox-H function in the theorems of above section with the help of (1.10)

Corollary 3.1. *Variation of Theorem 2.1*

$$\int_0^1 x^{\nu-1} (1-x)^{\mu-1} [ax+b(1-x)]^{-\nu-\mu} J_{(\beta_j),q}^{(\alpha_j),\gamma} \left(\frac{xy}{ax+b(1-x)} \right) dx = \frac{\Gamma(\mu)}{a^{\nu} b^{\mu} \Gamma(\gamma)}$$

$$\times H_{2,n+2}^{1,2} \left[\begin{matrix} (1-\nu, 1), & (1-\gamma, q) \\ \frac{y}{a} \mid & (0, 1), & (-\beta_1, \alpha_1), & \dots, & (-\beta_n, \alpha_n) & (1-\nu-\mu, 1) \end{matrix} \right] \quad (3.1)$$

Corollary 3.2. *Variation of Theorem 2.2*

$$\int_0^1 x^{\nu-1} (1-x)^{\mu-1} [ax+b(1-x)]^{-\nu-\mu} J_{(\beta_j),q}^{(\alpha_j),\gamma} \left(\frac{(1-x)y}{ax+b(1-x)} \right) dx = \frac{\Gamma(\nu)}{a^{\nu} b^{\mu} \Gamma(\gamma)}$$

$$\times H_{2,n+2}^{1,2} \left[\begin{matrix} (1-\mu, 1), & (1-\gamma, q) \\ \frac{y}{a} \mid & (0, 1), & (-\beta_1, \alpha_1), & \dots, & (-\beta_n, \alpha_n) & (1-\nu-\mu, 1) \end{matrix} \right] \quad (3.2)$$

Corollary 3.3. *Variation of Theorem 2.3*

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{(\beta_j),q}^{(\alpha_j),\gamma} [(a-x)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\mu)}{\Gamma(\gamma)}$$

$$\times H_{2,n+2}^{1,2} \left[\begin{matrix} (1-\nu, 1), & (1-\gamma, q); \\ (a-b)y \mid & (0, 1), & (-\beta_1, \alpha_1), & \dots, & (-\beta_n, \alpha_n) & (1-\nu-\mu, 1); \end{matrix} \right] \quad (3.3)$$



Corollary 3.4. Variation of Theorem 2.4

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{(\beta_j),q}^{(\alpha_j),\gamma} [(x-b)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\nu)}{\Gamma(\gamma)}$$

$$\times H_{2,n+2}^{1,2} \left[\begin{matrix} (a-b)y \\ (0,1), (-\beta_1, \alpha_1), \dots, (-\beta_n, \alpha_n) \end{matrix} \begin{matrix} (1-\mu, 1), & (1-\gamma, q); \\ (1-\nu-\mu, 1); \end{matrix} \right] \quad (3.4)$$

Corollary 3.5. Variation of Theorem 2.5

$$\int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{(\beta_j),q}^{(\alpha_j),\gamma} (xy) dx = \frac{\lambda 2^{1-\mu} a^{\mu-\lambda}}{\Gamma(\gamma)}$$

$$\times H_{3,n+2}^{1,3} \left[\begin{matrix} \frac{ya}{2} \\ (0,1), (-\beta_1, \alpha_1), \dots, (-\beta_n, \alpha_n) \end{matrix} \begin{matrix} (1-\gamma, q), & (1-2\mu, 2), & (1-\lambda+\mu, -1) \\ (-\lambda-\mu, 1) \end{matrix} \right] \quad (3.5)$$

Corollary 3.6. Variation of Theorem 2.6

$$\int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{(\beta_j),q}^{(\alpha_j),\gamma} \left(\frac{y}{x+a+\sqrt{x^2+ax}} \right) dx = \frac{2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu)}{\Gamma(\gamma)}$$

$$\times H_{3,n+3}^{1,3} \left[\begin{matrix} \frac{y}{a} \\ (0,1), (-\beta_1, \alpha_1), \dots, (-\beta_n, \alpha_n) \end{matrix} \begin{matrix} (1-\gamma, q), & (-\lambda, 1), & (1-\lambda+\mu, -1) \\ (-\lambda-\mu, 1) & (1-\lambda, 1) \end{matrix} \right] \quad (3.6)$$

All the above corollaries in this section are true under the same conditions as of their theorems.

4. Special Cases

In this section we will find the particular cases of generalized multiindex Mittag-Leffler function.

Corollary 4.1. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.1

$$\int_0^1 x^{\nu-1} (1-x)^{\mu-1} [ax+b(1-x)]^{-\nu-\mu} J_{\beta,q}^{\alpha,\gamma} \left(\frac{xy}{ax+b(1-x)} \right) dx$$

$$= \frac{\Gamma(\mu)}{a^\nu b^\mu \Gamma(\gamma)} {}_2\Psi_2 \left[\begin{matrix} (\nu, 1), & (\gamma, q); & \frac{-y}{a} \\ (\beta+1, \alpha), & (\nu+\mu, 1); \end{matrix} \right] \quad (4.1)$$

where $\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$.

Corollary 4.2. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.2

$$\int_0^1 x^{\nu-1} (1-x)^{\mu-1} [ax+b(1-x)]^{-\nu-\mu} J_{\beta,q}^{\alpha,\gamma} \left(\frac{(1-x)y}{ax+b(1-x)} \right) dx$$

$$= \frac{\Gamma(\nu)}{a^\nu b^\mu \Gamma(\gamma)} {}_2\Psi_2 \left[\begin{matrix} (\mu, 1), & (\gamma, q); & \frac{-y}{a} \\ (\beta+1, \alpha), & (\nu+\mu, 1); \end{matrix} \right] \quad (4.2)$$

where $\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$.

Corollary 4.3. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.3

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{\beta,q}^{\alpha,\gamma} [(a-x)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\mu)}{\Gamma(\gamma)}$$

$$\times {}_2\Psi_2 \left[\begin{matrix} (\nu, 1), & (\gamma, q); & -(a-b)y \\ (\beta+1, \alpha), & (\nu+\mu, 1); \end{matrix} \right] \quad (4.3)$$

where $\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$ and $a > b$.

Corollary 4.4. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.4

$$\int_a^b (a-x)^{\nu-1} (x-b)^{\mu-1} J_{\beta,q}^{\alpha,\gamma} [(x-b)y] = \frac{(a-b)^{\nu+\mu} \Gamma(\nu)}{\Gamma(\gamma)}$$

$$\times {}_2\Psi_2 \left[\begin{matrix} (\mu, 1), & (\gamma, q); & -(a-b)y \\ (\beta+1, \alpha), & (\nu+\mu, 1); \end{matrix} \right] \quad (4.4)$$

where $\Re(\nu), \Re(\mu), \Re(\gamma) > 0, \Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$ and $a > b$.

Corollary 4.5. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.5

$$\int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{\beta,q}^{\alpha,\gamma} (xy) dx = \frac{\lambda 2^{1-\mu} a^{\mu-\lambda}}{\Gamma(\gamma)}$$

$$\times {}_3\Psi_2 \left[\begin{matrix} (\gamma, q), & (2\mu, 2), & (\lambda-\mu, -1); & \frac{-ya}{2} \\ (\beta+1, \alpha), & (\lambda+\mu+1, 1); \end{matrix} \right] \quad (4.5)$$

where $\Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$ and $0 < \Re(\mu) < \Re(\lambda)$.

Corollary 4.6. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta$ in Theorem 2.6

$$\int_0^\infty x^{\mu-1} (x+a+\sqrt{x^2+ax})^{-\lambda} J_{\beta,q}^{\alpha,\gamma} \left(\frac{y}{x+a+\sqrt{x^2+ax}} \right) dx = \frac{2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu)}{\Gamma(\gamma)}$$

$$\times {}_3\Psi_3 \left[\begin{matrix} (\gamma, q), & (\lambda+1, 1), & (\lambda-\mu, -1) & \frac{-y}{a} \\ (\beta+1, \alpha), & (\lambda+\mu+1, 1), & (\lambda, 1) \end{matrix} \right] \quad (4.6)$$

where $\Re(\beta) > -1, \Re[\alpha] > \max\{0, q-1\}$ and $0 < \Re(\mu) < \Re(\lambda)$.

Corollary 4.7. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.1

$$\int_0^1 x^{\nu-1} (1-x)^{\mu-1} [ax+b(1-x)]^{-\nu-\mu} J_{\beta}^{\alpha} \left(\frac{xy}{ax+b(1-x)} \right) dx$$



$$= \frac{\Gamma(\mu)}{a^{\nu}b^{\mu}} {}_1\Psi_2 \left[\begin{matrix} (\nu, 1); \\ (\beta + 1, \alpha), (\nu + \mu, 1); \end{matrix} \frac{-y}{a} \right] \quad (4.7)$$

where $\Re(\alpha), \Re(\nu), \Re(\mu) > 0, \Re(\beta) > -1$.

Corollary 4.8. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.2

$$\int_0^1 x^{\nu-1}(1-x)^{\mu-1}[ax+b(1-x)]^{-\nu-\mu} J_{\beta}^{\alpha} \left(\frac{(1-x)y}{ax+b(1-x)} \right) dx$$

$$= \frac{\Gamma(\nu)}{a^{\nu}b^{\mu}} {}_1\Psi_2 \left[\begin{matrix} (\mu, 1); \\ (\beta + 1, \alpha), (\nu + \mu, 1); \end{matrix} \frac{-y}{a} \right] \quad (4.8)$$

where $\Re(\nu), \Re(\mu), \Re(\alpha) > 0, \Re(\beta) > -1$.

Corollary 4.9. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.3

$$\int_a^b (a-x)^{\nu-1}(x-b)^{\mu-1} J_{\beta}^{\alpha} [(a-x)y] = (a-b)^{\nu+\mu} \Gamma(\mu)$$

$$\times {}_1\Psi_2 \left[\begin{matrix} (\nu, 1); \\ (\beta + 1, \alpha), (\nu + \mu, 1); \end{matrix} -(a-b)y \right] \quad (4.9)$$

where $\Re(\nu), \Re(\mu), \Re(\alpha) > 0, \Re(\beta) > -1$ and $a > b$.

Corollary 4.10. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.4

$$\int_a^b (a-x)^{\nu-1}(x-b)^{\mu-1} J_{\beta}^{\alpha} [(x-b)y] = (a-b)^{\nu+\mu} \Gamma(\nu)$$

$$\times {}_1\Psi_2 \left[\begin{matrix} (\mu, 1); \\ (\beta + 1, \alpha), (\nu + \mu, 1); \end{matrix} -(a-b)y \right] \quad (4.10)$$

where $\Re(\nu), \Re(\mu), \Re(\alpha) > 0, \Re(\beta) > -1$ and $a > b$.

Corollary 4.11. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.5

$$\int_0^{\infty} x^{\mu-1}(x+a+\sqrt{x^2+ax})^{-\lambda} J_{\beta}^{\alpha}(xy) dx = \lambda 2^{1-\mu} a^{\mu-\lambda}$$

$$\times {}_2\Psi_2 \left[\begin{matrix} (2\mu, 2), (\lambda - \mu, -1); \\ (\beta + 1, \alpha), (\lambda + \mu + 1, 1); \end{matrix} \frac{-ya}{2} \right] \quad (4.11)$$

where $\Re(\beta) > -1, \Re(\alpha) > 0$ and $0 < \Re(\mu) < \Re(\lambda)$.

Corollary 4.12. By setting $j = 1$ and putting $\alpha_1 = \alpha, \beta_1 = \beta, q = 0$ Theorem 2.6

$$\int_0^{\infty} x^{\mu-1}(x+a+\sqrt{x^2+ax})^{-\lambda} J_{\beta}^{\alpha} \left(\frac{y}{x+a+\sqrt{x^2+ax}} \right) dx = 2^{1-\mu} a^{\mu-\lambda} \Gamma(2\mu)$$

$$\times {}_2\Psi_3 \left[\begin{matrix} (\lambda + 1, 1), (\lambda - \mu, -1) \\ (\beta + 1, \alpha), (\lambda + \mu + 1, 1), (\lambda, 1) \end{matrix} \frac{-y}{a} \right] \quad (4.12)$$

where $\Re(\beta) > -1, \Re(\alpha) > 0$ and $0 < \Re(\mu) < \Re(\lambda)$.

References

- [1] A.Erdelyi, W.Magnus, F.Oberhettinger and F.G.Tricomi, *Tables of Integral Transforms*, McGraw-Hill Book Company, New York, 1954.
- [2] E.D.Rainville, *Special functions*, Macmillan, New York, 1960.
- [3] F. Oberhettinger, *Tables of Mellin Transforms*, Springer, New York, 1974.
- [4] H.M.Srivastava and H.L.Manocha, *A Treatise on generating functions*, Halsted Press, John Wiley and Sons, New York, 1984.
- [5] J.Choi and P.Agarwal, *Certain unified integrals associated with Bessel functions*, Bound. Value Probl., **2013**(2013), 95 .
- [6] J.Choi, P.Agarwal, S.Mathur and S.D.Purohit, *Certain new integral formulas involving the generalized Bessel function*, Bull.Korean Math. Soc **51**(2014), 4, 995-1003.
- [7] MacRobert, *T.M.Beta functions formulae and integrals involving E-function*, Math. Annalen, **142**(1961), 450-452.
- [8] M.Singh, M.A. Khan and A.H.Khan, *On some properties of a generalization of Bessel-Maitland function*, International Journal of Mathematics Trends and Technology, **14**(2014), 1, 46-54.
- [9] N.U.Khan and M.Ghayasuddin, *A new class of integral formulas associated with generalized Bessel function*, Sohag J.Math. **3**(2016), 2, 1-4.
- [10] N.U.Khan, M.Ghayasuddin, W.a.Khan and Sarvat Zia, *Certain unified integral involving Generalized Bessel-Maitland function*, South East Asian J. of Math and Math. Sci, **11**(2015), 2, 27-36.
- [11] N.U.Khan, S.W.Khan and M.Ghayasuddin, *Some new results associated with the Bessel-Struve kernel function*, Acta Universitatis Apulensis **48**(2016), 89-101 .
- [12] O.I.Merichev, *Handbook of Integral Transforms and Higher Transcendental Functions*, Ellis Horwood Chichester, John Wiley and Sons, New York, 1983.
- [13] R.K.Saxena and K.Nishimoto, *N-fractional calculus of generalized Mittag-Leffler function*, J.Fract.Calc. **37**(2010), 43-52.
- [14] R. K. Saxena, T. K. Pogány, J. Ram, and J. Daiya, *Dirichlet averages of generalized multi-index Mittag-Leffler functions*, Armen. J. Math. **3**(2010), 174-187.

ISSN(P):2319 – 3786

Malaya Journal of Matematik

ISSN(O):2321 – 5666

